
Multi-jig Part prices Uppdaterad: 2022-11-03

Beams

Weight

Art.nr Name Kg/pc excl. VAT incl. VAT excl. VAT incl. VAT

Beam 70

MJ.001.070.1850.01 Beam 70, 1850 6,22 1022 1277 817 1022

MJ.001.070.1450.01 Beam 70, 1450 944 1179 755 944

MJ.001.070.1250.01 Beam 70, 1250 4,20 752 939 601 752

MJ.001.070.1050.01 Beam 70, 1050 768 959 614 768

MJ.001.070.0650.01 Beam 70, 650 2,20 551 689 441 551

MJ.001.070.0250.01 Beam 70, 250 510 638 408 510

Beam 45

MJ.001.045.1850.01 Beam 45, 1850 0 0 0 0

MJ.001.045.1450.01 Beam 45, 1450 0 0 0 0

MJ.001.045.1250.01 Beam 45, 1250 0 0 0 0

MJ.001.045.1050.01 Beam 45, 1050 0 0 0 0

MJ.001.045.0650.01 Beam 45, 650 0 0 0 0

MJ.001.045.0250.01 Beam 45, 250 0 0 0 0

Beam 70 w/ M8

MJ.002.070.1850.01 Beam 70, 1850 w/ M8 6,26 1668 2085 1334 1668

MJ.002.070.1450.01 Beam 70, 1450 w/ M8 4,91 1303 1629 1042 1303

MJ.002.070.1250.01 Beam 70, 1250 w/ M8 4,23 1150 1438 920 1150

MJ.002.070.1050.01 Beam 70, 1050 w/ M8 3,56 1017 1272 814 1017

MJ.002.070.0850.01 Beam 70, 850 w/ M8 2,88 898 1122 718 898

MJ.002.070.0650.01 Beam 70, 650 w/ M8 2,20 793 991 634 793

MJ.002.070.0250.01 Beam 70, 250 w/ M8 620 775 496 620

Beam 45 w/ M8

MJ.002.045.1850.01 Beam 45, 1850 w/ M8 4,59 1125 1406 900 1125

MJ.002.045.1450.01 Beam 45, 1450 w/ M8 3,60 936 1170 749 936

MJ.002.045.1250.01 Beam 45, 1250 w/ M8 3,10 854 1068 683 854

MJ.002.045.1050.01 Beam 45, 1050 w/ M8 778 972 622 778

MJ.002.045.0650.01 Beam 45, 650 w/ M8 1,61 648 810 518 648

MJ.002.045.0250.01 Beam 45, 250 w/ M8 0,62 538 673 430 538

MJ.002.045.0100.01 Beam 45, 100 w/ M8 490 612 392 490

Beam 25 w/ M8

MJ.002.025.0100.01 Beam 25, 100 w/M8 255 319 204 255

Crossbeam 70

MJ.003.070.0550.01 Crossbeam 70, 550 1,98 747 934 598 747

Crossbeam 70 w/ M8

MJ.004.070.0550.01 Crossbeam 70, 550 w/ M8 0 0 0 0

Beam reinforcement w/ M8

MJ.005.060.0030.01 Beam reinforcement 60, 30 w/ M8 0,09 160 200 128 160

MJ.005.060.0080.01 Beam reinforcement 60, 80 w/ M8 0,24 311 389 249 311

Beam inside

MJ.006.040.0500.01 Beam inside 40. 500 0 0 0 0

Antal 17

* Discounted price is when you buy a kit. See our kits.

You pay Swedish VAT if you buy in Sweden or from a EU country with out a VAT number.

If you have a EU VAT number you don’t need to pay VAT.

Out side EU, you don’t need to pay VAT, but you have to pay import tax in your country.

List price, Sek *Discounted price. 20%

000-099



Multi-jig Part prices 100-199 Uppdaterad: 2022-11-03

Legs

Weight

Art.nr Benämning Kg/pc excl. VAT incl. VAT excl. VAT incl. VAT

Legs

MJ.100.0120.01 Leg 120 0,30 338 422 270 338

MJ.100.0400.02 Leg 400 0,90 473 591 378 473

MJ.100.0700.01 Leg 700 1,60 614 768 491 614

Leg support

MJ.101.0120.01 Leg 120 Support 0,32 332 414 265 332

MJ.101.0400.01 Leg 400 Support 1,00 500 625 400 500

MJ.101.0700.01 Leg 700 Support 1,73 632 791 506 632

Foot

MJ.102.0040.01 Foot 0,06 89 112 71 89

Leg extensions

MJ.103.0200.01 Leg extension 200 0,94 413 516 330 413

Crossbar

MJ.104.0600.01 Crossbar 600 0,56 200 250 160 200

Diagonals

MJ.105.0318.01 Diagonal 318 0,27 124 155 99 124

MJ.105.0618.01 Diagonal 618 0,57 203 253 162 203

MJ.105.0742.01 Diagonal 742 0,67 194 242 155 194

MJ.105.0848.01 Diagonal 848 1,05 290 363 232 290

Antal 13

* Discounted price is when you buy a kit. See our kits.

You pay Swedish VAT if you buy in Sweden or from a EU country with out a VAT number.

If you have a EU VAT number you don’t need to pay VAT.

Out side EU, you don’t need to pay VAT, but you have to pay import tax in your country.

List price, Sek *Discounted price. 20%



Multi-jig Part prices 200-299 Uppdaterad: 2022-11-03

Fastening

Weight

Art.nr Benämning Kg/pc excl. VAT incl. VAT excl. VAT incl. VAT

Bolts w/ flange

MJ.200.01.06.16.01 Bolt w/ flange, M6 x 16 0,01 2,68 3 2,68 3,35

MJ.200.01.08.12.01 Bolt w/ flange, M8 x 12 0,01 2,68 3 2,68 3,35

MJ.200.01.08.16.01 Bolt w/ flange, M8 x 16 0,01 2,87 4 2,87 3,58

MJ.200.01.08.20.01 Bolt w/ flange, M8 x 20 0,02 3,41 4 3,41 4,27

MJ.200.01.08.30.01 Bolt w/ flange, M8 x 30 0,02 3,96 5 3,96 4,95

Nut w/ flange

MJ.200.02.08.01.01 Nut w/ flange, M8 0,01 1,81 2 1,81 2,27

Nuts

MJ.200.02.10.02.01 Nut, M10 0,01 1,54 2 1,54 2

MJ.200.02.16.02.01 Nut, M16 0,03 12,24 15 12,24 15

MJ.200.02.20.02.01 Nut, M20 0,06 15,84 20 15,84 20

Nut, long

MJ.200.02.20.03.01 Nut, extra long, M20 144 180 144 180

Washer

MJ.200.03.08.18.01 Washer 5mm 8 x 18 0,010 0 0 0 0

Threaded rods

MJ.200.04.16.1000.01 Threaded rod M16. 1000 1,20 115 144 92 115

MJ.200.03.20.1000.01 Threaded rod M20. 1000 1,95 144 180 115 144

Beam adjusters

MJ.201.045.100.01 Beam adjuster 45 0,27 179 223 143 179

MJ.201.070.100.01 Beam adjuster 70 0,32 204 255 163 204

Shims

MJ.202.40.90.005.01 Tube adjuster Shims 0,5mm 0,01 31 38 24 31

MJ.202.40.90.010.01 Tube adjuster Shims 1mm 0,02 31 38 24 31

MJ.202.40.90.015.01 Tube adjuster Shims 1,5mm 0,03 31 38 24 31

MJ.202.40.90.020.01 Tube adjuster Shims 2mm 0,04 36 45 29 36

MJ.202.40.90.025.01 Tube adjuster Shims 2,5mm 0,06 41 51 33 41

MJ.202.40.90.030.01 Tube adjuster Shims 3mm 0,07 48 61 39 48

MJ.202.40.90.040.01 Tube adjuster Shims 4mm 0,09 51 64 41 51

MJ.202.40.90.050.01 Tube adjuster Shims 5mm 0,11 54 67 43 54

MJ.202.40.90.100.01 Tube adjuster Shims 10mm 0,22 99 124 80 99

Tube adjusters

MJ.203.050.090.01 Tube adjuster bolt 0,14 153 191 122 153

MJ.203.063.090.01 Tube adjuster bolt lock 0,04 43 54 35 43

MJ.203.054.001.01 Tube adjuster 54-40 bolt 0,15 138 172 110 138

MJ.203.042.001.01 Tube adjuster 42-29 bolt 0,13 133 166 106 133

MJ.203.032.001.01 Tube adjuster 32-19 bolt 0,10 128 159 102 128

MJ.203.054.002.01 Tube adjuster 54-40 lock 0,05 71 89 57 71

MJ.203.042.002.01 Tube adjuster 42-29 lock 0,04 66 83 53 66

MJ.203.032.002.01 Tube adjuster 32-19lock 0,03 61 77 49 61

Height adjusters 100

MJ.204.100.0150.01 Height adjuster 100, 150 0,33 176 220 141 176

MJ.204.100.0250.01 Height adjuster 100, 250 0,56 196 245 157 196

MJ.204.100.0350.01 Height adjuster 100, 350 0,78 214 268 171 214

MJ.204.100.0400.01 Height adjuster 100, 400 0,89 334 418 267 334

MJ.204.100.0500.01 Height adjuster 100, 500 1,11 385 481 308 385

MJ.204.100.0650.01 Height adjuster 100, 650 1,45 451 564 361 451

MJ.204.100.0850.01 Height adjuster 100, 850 1,89 0 0 0 0

Angle adjusters

MJ.205.001.020.01 Angle adjuster shaft 20 561 701 449 561

MJ.205.092.155.01 Angle adjuster 0,44 128 159 102 128

MJ.205.092.081.01 Angle adjuster Shims 0,22 89 112 71 89

MJ.205.045.120.01 Angle adjuster centering plate 0,17 94 118 75 94

Bolt plates

MJ.207.120.120.01 Plate 3mm. 120x120 w/8mm 0,31 0 0 0 0

Body adjusters

MJ.208.050.090.01 Body adjuster 0,32 342 427 273 342

MJ.208.020.070.01 Body adjuster attachment plate 0,03 56 70 45 56

Antal 44

* Discounted price is when you buy a kit. See our kits.

You pay Swedish VAT if you buy in Sweden or from a EU country with out a VAT number.

If you have a EU VAT number you don’t need to pay VAT.

Out side EU, you don’t need to pay VAT, but you have to pay import tax in your country.

List price, Sek *Discounted price. 20%



Multi-jig Part prices 300-399 Uppdaterad: 2022-11-03

Uprights

Weight

Art.nr Benämning Kg/pc excl. VAT incl. VAT excl. VAT incl. VAT

Uprights 75

MJ.300.075.0650.01 Upright 75, 650 0 0 0 0

MJ.300.075.0850.01 Upright 75, 850 4,95 2131 2663 1705 2131

MJ.300.075.1050.01 Upright 75, 1050 0 0 0 0

Uprights 100

MJ.300.100.0650.01 Upright 100, 650 0 0 0 0

MJ.300.100.0850.01 Upright 100, 850 0 0 0 0

MJ.300.100.1050.01 Upright 100, 1050 0 0 0 0

Uprights 150

MJ.300.150.0650.01 Upright 150, 650 5,85 2585 3232 2068 2585

MJ.300.150.0850.01 Upright 150, 850 0 0 0 0

MJ.300.150.1050.01 Upright 150, 1050 0 0 0 0

Uprights 150 w/ slit

MJ.301.150.0650.01 Upright 150, 650 w/slit 6,05 2729 3412 2183 2729

Antal 3

* Discounted price is when you buy a kit. See our kits.

You pay Swedish VAT if you buy in Sweden or from a EU country with out a VAT number.

If you have a EU VAT number you don’t need to pay VAT.

Out side EU, you don’t need to pay VAT, but you have to pay import tax in your country.

List price, Sek *Discounted price. 20%



Multi-jig Part prices 400-499 Uppdaterad: 2022-11-03

Plates

Weight

Art.nr Benämning Kg/pc excl. VAT incl. VAT excl. VAT incl. VAT

Plåt, 5mm svetsbord utan hål

MJ.400.0650.0650.01 Plate 5mm. 650x650 3659,25 4574,0625 2927 3659,25

MJ.400.0650.1250.01 Plate 5mm. 650x1250 5701,8 7127,25 4561 5701,8

MJ.400.0650.1850.01 Plate 5mm. 650x1850 7757,1 9696,375 6206 7757,1

Plåt,5mm svetsbord med hål 0 0 0

MJ.401.0650.0650.01 Plate 5mm. 650x650, w/8mm 1591,2 1989 1273 1591,2

MJ.401.0650.1250.01 Plate 5mm. 650x1250, w/8mm 2499,85 3124,8125 2000 2499,85

MJ.401.0650.1850.01 Plate 5mm. 650x1850, w/8mm 3399,15 4248,9375 2719 3399,15

Plåt, 5mm svetsbord med M8 0 0 0

MJ.402.0650.0650.01 Plate 5mm. 650x650, w/M8 5304 6630 4243 5304

MJ.402.0650.1250.01 Plate 5mm. 650x1250, w/M8 9654,3 12067,875 7723 9654,3

MJ.402.0650.1850.01 Plate 5mm. 650x1850, w/M8 46,40 13968 17459,85 11174 13968

Fixturplåt 0 0 0

MJ.412.0300.0550.01 Fixture plate 4,74 933 1167 747 933

Antal 2

* Discounted price is when you buy a kit. See our kits.

You pay Swedish VAT if you buy in Sweden or from a EU country with out a VAT number.

If you have a EU VAT number you don’t need to pay VAT.

Out side EU, you don’t need to pay VAT, but you have to pay import tax in your country.

List price, Sek *Discounted price. 20%



Multi-jig Part prices 500-599 Uppdaterad: 2022-11-03

Jigs

Weight

Art.nr Benämning Kg/pc excl. VAT incl. VAT excl. VAT incl. VAT

Wheel Spindle

MJ.500.290.430.01 Wheel spindle jig assembled 3,78 2800 3500 2240 2800

0 0 0 0

MJ.500.001.100.01 Wheel spindle plate 10,0 0,12 89 112 71 89

MJ.500.001.160.01 Wheel spindle plate 16,0 0,12 89 112 71 89

MJ.500.001.176.01 Wheel spindle plate 17,6 0,12 89 112 71 89

MJ.500.001.192.01 Wheel spindle plate 19,2 0,12 89 112 71 89

MJ.500.001.200.01 Wheel spindle plate 20,0 0,12 89 112 71 89

MJ.500.001.251.01 Wheel spindle plate 25,1 0,11 89 112 71 89

MJ.500.001.271.01 Wheel spindle plate 27,1 0,11 89 112 71 89

MJ.500.001.320.01 Wheel spindle plate 32,0 0,10 89 112 71 89

0 0 0 0

MJ.500.002.100.01 Wheel spindle plate 10,0 nut 0,13 268 335 214 268

MJ.500.002.160.01 Wheel spindle plate 16,0 nut 0,13 268 335 214 268

MJ.500.002.176.01 Wheel spindle plate 17,6 nut 0,13 268 335 214 268

MJ.500.002.192.01 Wheel spindle plate 19,2 nut 0,12 268 335 214 268

MJ.500.002.200.01 Wheel spindle plate 20,0 nut 0,12 268 335 214 268

MJ.500.002.251.01 Wheel spindle plate 25,1 nut 0,12 268 335 214 268

MJ.500.002.271.01 Wheel spindle plate 27,1 nut 0,12 268 335 214 268

MJ.500.002.320.01 Wheel spindle plate 32,0 nut 0,11 268 335 214 268

Front strut

MJ.501 Front strut jig assembled 8,85 4740 5926 3792 4740

MJ.501.170.520.01 Front strut plate 1811 2263 1448 1811

MJ.501.120.497.01 Front Strut upright 1578 1973 1263 1578

MJ.501.095.290.01 Front strut bottom 1,27 1352 1689 1081 1352

MJ.501.098.160.01 Front strut holder 16,0 0,47 602 752 481 602

MJ.501.098.175.01 Front strut holder 17,5 0,48 602 752 481 602

Axel jig

MJ.502.050.462.01 Axel jig assembled 3060 3825 2448 3060

MJ.502.001.160.01 Axel jig plate 16 102 128 82 102

MJ.502.002.160.01 Axel jig plate 16 nut 281 351 224 281

Antal 21

* Discounted price is when you buy a kit. See our kits.

You pay Swedish VAT if you buy in Sweden or from a EU country with out a VAT number.

If you have a EU VAT number you don’t need to pay VAT.

Out side EU, you don’t need to pay VAT, but you have to pay import tax in your country.

List price, Sek *Discounted price. 20%



Multi-jig Part prices 700-799 Uppdaterad: 2022-11-03

Measuring

Weight

Art.nr Benämning Kg/pc excl. VAT incl. VAT excl. VAT incl. VAT

Wire tensioner

MJ.700.070.204.01 Wire tensioner 0,22 102 128 82 102

Antal 1

* Discounted price is when you buy a kit. See our kits.

You pay Swedish VAT if you buy in Sweden or from a EU country with out a VAT number.

If you have a EU VAT number you don’t need to pay VAT.

Out side EU, you don’t need to pay VAT, but you have to pay import tax in your country.

List price, Sek *Discounted price. 20%


